- \Ac\p anvlle

/‘ZDDI — <{\)/ ol %M
@\Q_\ —so [

——

- €ﬂ+6<‘fﬂ<f o e e i&ao\/\ \flouC

o exifing & Hhe Necth
5o Cﬂ{va b e Se otk

- Feom s tafemokion, is iF pesibe £
&&ZCMZM \(\ovD w\am( cacs At cxlfx\g Alen,
%lef/ ou/(o( Cocx\ 9‘[’(’64/{3 Q’\J‘(’(\'/ \(lb\x\'?.

(=4 Cor'S

X = + op F’Aﬁ« &ﬁu{ﬂg on AUe«\)

%5 H# of ColS o\n\n‘rg on @ef/ and eock
KeuC,

> =¥ of cars  Aciviag ©n (el

K*jZZDD | OiZoo
X«’Z’”go > | © -1.[5O
S ( So

g+%750



Y x —2 =150 (2

[ ©
o
& o o' O

O=o
(JPQ%ZJDL&A‘]L §\/$+€M, Z 1S ar\o(‘l-mr\( (a[mbg+), e
Cawn* GQC()@(M{AZ how MM\/ cacs  drive Q(ong €ach
g%(e,e% QM‘-’\/ ‘fIOUf -

L. et is +E\£ MOXI Mot ?cht‘]&lf %quc‘c \C[m)
dtoﬂg “Bokec”
uw—z:so => g: Co — &
'T[% MOLX LI LA WC(s\,\ alu\&r {m&lfw’ 'S %250 whea
2.
e Whet is e wiaimus possbe fluo alog Alen?
¥ —2 =560 =2 x= [Sot 2
\_//&a Mmimmum 1S )(:[SD (A_\M =9,
O/, wha‘l' 'S 7% MOX [ W1 UM 'Qem @lmg CM[?
O <& %—; SC) -2
= 7 £50:



£t Peatd Cor Gy Vi o lcebions &
Sw NE SC, X N,

NwW )’\ag 20 Mie CarS “H/lm\ ,+’ (\,Uacgg

NE Mas [5 Mo CacsS -H\on 1-{' ﬂe_ecis

S needs (O noce Hor 1+ L)GS
SC/ \/\eec{g 75 moe Hhon e Vmg

'Co&%g \le —fo deive & coc N fo SW
(Cecsts “7:5 7LD deiwe o ac NE o SW

(os Plo + e o CC NE Tu SE
\ (« N 4o SL/

It «$ZD (c U
Ffﬂa CoM;Fon)/ LO',U SEMOQ $Lf7$ To (&arrmcjf. CofS
feow coch of NW ERE f

Howo ey Cocs woill 7 drive
cach of S0 asE’

470 + 5
Mo | ] e |

$
j’\slx N ‘ p| O

G

PRy

e -25




X = H cors driven N 4o Sw
g: # cocs  driven NW 4o ST

2 = # Coacs  driven NE o S
e # cacs deiven NE o >t -

[ox +20y +he +[0w = Y475
X & = (©

/ & 6 ' (0O
> [ © ([ | 25
[
| | © o ( zo
O O [ [ ¢ !
é e b ® ?’5 x=5_
fee ol o 0 'S ‘}:‘S
S o | o S) =5
@) o o ( 10 w:—lo
o ©O O o O



